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Algebra 2 Honors Name J&?’

WS: Summer Work Extra Practice Date 4/( 9/7 Block _4L&

.1 1-2, solve each system of equations by graphing.
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3. Create a system of equations for the following problem, but don’t solve. Identify each variable’s

meaning.

Mr. Brust likes to reward his students so he purchased 2 kinds of candy for a math game. He can’t
remember how many of each he purchased, but he does remember that the Chocolate Smoothies cost

$0.50 each and the Super Pops cost $0.60 each. He purchased a total of 3
C = %Uff choe ol ate S ’L-"L"“J-}?-é-f
(variable) (what the variable represents)
Q@ J _Fof repe popv
(variable) {what the variable represents)

Equation 1: C + = 50

- O
Equation2: 0. §0C +0.08= 16 ¥

In 4 - 6, solve each system using substitution or elimination.
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0 pieces of candy for $16.80.

o ~10x-2y=-1
L y=-5x+2
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y showing work-

rm of 8x2 — 22x — 217 Justify your answer b

7. Is (dx + 3)(2x — 7) the factored fo
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following. Check your answer by multiplying:
R 10. 25%° - 36

8. 5p°+9p-2

(5 = {7 *Z)/

9, 4 —17n+4

o 3771 ] [Cx 2 27T

12. 8n*—34n+38 13. 12x° = 27x
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N, T =13, -2
16, 1852 =26 + 40x M 17. 57 -25y=0 {U/ 5f
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Ll e =54 ) state the domain and range. If it is not a

Determine if the following are functions. For each function,
function, explain why.
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Ket the functions A(x) =5x* -2, B(x) = x| + 2, and C(x) = Yx . Find the followin
r g Iil ; _ %— ; g
2{1{ B(-2) = Q? 21 JIC(4)Y + 4A(3) - ¢ ZZ@LC{IW

@ =l ccn-liz Cciy oA 1

. 2+ 2 A(3) =5(3%)-2 .43 £ Epady mullen = 18
23. Findx, if A(x) =43 24.” Give the domain of C(x) 25. Find x if B(x) = 21
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S = i (’X—'i'j': [ / /x/-fZ:,Z.f

X:‘c} )(20 -{‘? )(:._t/g
Find the values using the graph. / x/ =
26. What is the range of F(x)? ~ 7 < >/z_ 3‘?
27. F®)= ~ 7/

28. fF(x)=-4,findx. ¥ = 7/

29. Where is F(x) decreasing?
- u-ﬁ}(é-‘/) O < X< 3) Scex< §
30. What is the maximum of F(x)?

I
‘\l.x-imercepts: ~5} -3) 2 J'-/] (e

32. y—intercept: u?

=1

33, What is the domain of F(x)? - = X =5
34, fFx)=6,findx. A E

35. Where does F(x) have a constant rate of change?

~bexe-d , -Fx<g 5XY
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